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TS-2

TOURISM STUDIES
(CTS, DTS, BTS, MTM-II)

Term-End Examination

00	 June, 2010

TS-2 : TOURISM DEVELOPMENT :
PRODUCTS, OPERATIONS AND CASE

STUDIES

Time : 3 hours	 Maximum Marks : 100

Note : Attempt any five questions in about 600 words each.

Marks are indicated against each question.

Mention the factors that effect the Guest-Host 20
relationship in Tourism Industry.

What are the attributes of a good wildlife Tourism 20
Guide ? What are the problems faced by wildlife

Tourism Guides and Escorts ?

As a Tour Manager, explain the points to consider
while preparing for a tour. Also mention the
problems one may encounter with tourists during
a tour.	 10+10=20

Explain with the help of an example, the role of 20
Dance Festivals in attracting tourists to India.
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Examine the tourism potential of Gir National 	 20
Park.

Explain the role of crafts and folk art in Tourism. 	 20

Write an essay on the Kalinga-Bali Yatra. 	 20

Discuss the role and importance of PATA in the
Tourism Industry.	 10+10=20

What do you understand by Heritage Hotel ?
Explain the features of a Heritage Hotel. 	 10+10=20

Write short notes on any two of the following in
about 300 words each :	 10+10=20

Taj Mahal

Hindu Pilgrimage sites in India

(c) Beach Tourism
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